CDS £(AM (1),2021

Y T IUH ag whawm iR GWiem ® T HE WM A 9% 3 e

A, : XKVWS-T-MTK w{teror givaT e

wH wEA

1087913 wdigror gieersht A

R |

w9y ;e quits : 100

. T Tam gfRm m wg 8 R W AmE § e AU SIgEE

jFFIA

. Tgn Iow T ¥ gE WR o 3@ Thaw gt B ugare s W # e pad we Ben v, s gz

TN g8 sy SR 7 W) AR T R, A @ wh v gieem & www o

. T e TG % OMR Im-na # Im 1o | iw T of whew g sgwn A, B, C T D W wW |

wﬁmﬁﬂwnﬁwﬁ#uﬁaﬁtmﬁﬁﬁﬁrﬁﬁmﬁhﬁﬁﬁmﬁw/ﬁwﬁ
+ R # sm-uaw P = Rar wem)

forgm ¥ whem g ® ol o 7 o)

. 76 wiww giEEm # 100 T (79) fim e #) weE g B ol sdeh 26 s ¥ e v § WR Tgw

(3w) fre T &) T A O TP R g o, B A ST W R w0 e §) AR R e B ww R
At Tegw T ¥, A T IR T oifFa F S R el @) gedw e & R e o @ e g R

. TR AW W TR I @ Ry g Iw-umE W@ osifE w7 8 sw-ww # Ry m fEn @)
. woft Wl % o WA 2
. o8 e fF o vl gfRem & falm T % Ieget IW-TTE W3R PR #, AR 964 - W

e IR F SPER To e Iw-ms § 7R

; mmmﬁu@ﬂa&mﬂﬁﬂﬂﬁ R 9N Th g W FEA TH-uEE A F 9 ¥ o T

Ty gltger giwse @ A S S

.ﬁm%%qm,wﬂmgﬂﬁ@%mﬁm!l
10.

o Il & o wvw

PSR \%nﬁqm.mm’:aammﬁmmn
) F T= & R m%lwﬂmmmm%ﬁmﬁqmwmm%mm%@mﬁm
M FEH W - 02 ¥ T H FR AN

{ii)uﬁa%éauﬂmqm%aﬁmmh%,asﬂmmmm,mmmwﬁﬁ%@mwm%,
R 3% 7R F g SwwEER @ s ar W ogve fE s
(ﬁi)ﬁmmﬂﬁimwaﬁﬁmm%mmmmqﬁﬁmmt,awuﬁ%ﬁqﬁim
T s

R TH WH! Tg Thgm giEmT @R S T HE NG a° a% A e

Note : English version of the instructions is printed on the back cover of this Booklet.



http://studentsuvidha.com/
http://studentsuvidha.com/

1. Ife W@ 413283P759387, 13 § fawsa g, 4, 50 3R 100 F Hi9 W TS (m, 1) F

@ P = AW T X7 Wy R AR AR & m-n-6a1 @
TR % fra gm ¥?

@ 3 ‘
(@ 2

6

(b} ® 3

e ) 4

(d} 8 (d) 5

2. 3fz 21000000 & 7 { Rwifa frar W, 5. TARA .
Frawet T T e

ey +ag +az)iby +by +by +by)
{cf +c, +e3 +€4 +€5)

@ 1
H foran w2 7

) 2
) 15

fc) 4 B30

i @ 45 \
@ 60

3. W= (2,3 6,89 A (x, yﬁﬁ\@%ﬁ’i’"

gﬁmm%ﬁix i"_ W D ?
% A 6. 5@ 2727 1527 91 6 | frRm fFM se, @

$& A% F=n Bom?
@
faj 0
(o)
(b} 1
fc A ) 3
{@) @ (@ 4
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1. f the number 413283P759387 is
divisible by 13, then what is the value
of P?

@) 3
B} 6
fc) 7

(d 8

2. What is the remainder when 21000000 ;g
divided by 77

{a) 1
by 2
fc} 4

fd) 6

. 3. How many pairs of (x, ) can hosen
from the set {2 3 6 8,%]\ ch that

x Y
—_ ..-,_=2’ h o=
: y+x where x y?&z,

5
{a) Zero @

(b) One

¢} Two

{d) Three

XVWS-T-MTK/S0A

4. Consider the pairs of prime numbers
{m, n} between 50 and 100 such that
m-n=6. How many such pairs are
there?

@) 2
b 3
) 4

{d 5

5. How many terms are there in the
following product?

(@ +a, +a3)(i71 +by +by +by)
(e, #cg +e3 +04 +05)
(@ 15
{b) .30
{c) 45

{d) 60

6. What is the remainder when 2727 - 15%7
is divided by 67
(@ O
) 1

) 3

(d 4

[ P.T.O.
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7. 3R a+b+c=07, T Fafafas & 4 $R-8 9. 6732 % fawn & it N 37 w1 77

wh &7
1. a®+b3 +¢® =3abe fai 1
2. a?+b? +e2 =-2(ab+bc+ca)
() 3
3. a®+b3+c3 =-3aba+b)
fc) 7
¥R fRu T F2 = W W 7 W ghw)
{d 9
(@) ¥ 1R 2
() ¥aw 2R3
fc Fa@13dR3 10. 7R
b+Vb2-2bx _
@ 1,239R3 b —+b2 —2bx
R, T 2 AR BT
8. 3R}
@ {a+b)
p=J3q+2+J3q—2
v3q+2-3q-2 N
%,a‘ipz—quwwmw@\\Q ) 295
NS a+1
S,
@ © @Q
3
) 2ab
b) 1 (@+ 12
fc) 2
..
(d 3 (a@+b)

XVWS-T-MTK/50A 4
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7. Ifa+b+c=0, then which of the following
are correct?

1. a3 +b% +¢® =3abe
2. a2 +b? +¢2 = -2(ab + bec+ca)

3. a®+b%+¢% =-3abla+h)

Select the correct answer using the code
given below.

{a) 1 and 2 only
(b} 2 and 3 cnly

fc; 1 and 3 only

{d 1, 2 and 3
8. If
o V3232
J3g+2-3q-2

then what is the value o@ ~3pg+27?

@Q\QQ}
@ © $
®) 1
© 2
{da 3

XVWS-T-MTK/E0A

9. What is the unit digit in the expansion
of 67327

@ 1
b} 3
7
(d 9

10. What is the value of x, if

b+Vb2 “2bx i
b-+b? —2bx

?

@

)

a+1)

{c)

@+ 2

d
@ (@ + b)?

[ P.T.O.



http://studentsuvidha.com/
http://studentsuvidha.com/

11. m%mm(‘lﬂlﬂm) 13. IR .{.].%aa-}b sl --x—-l-—!.-;..=2 %, @
a

(x3 - J(x2 - 9x + 14)

X _¥
(x? +x+)(x?2-8x+7) a? bzmmt?

forad att &m?

{fa) -2
@ x-1

) -1
b (x-2

© o
fe) (x-7)

@ 1
(d) (x+2)

14. IR x2 2
2\ 1 CORFCE G S SR " x2 +ax+b I x2 +ex+d T Ho o

" (x-2)(x-4) (90 Hio o) (x - k) }, A & T T TN 87
2x-5 ma?
(x2 - 5x +6)(x—4) ,
' 4P
1 c—-a
@ ————
{(x* -7Tx+12)
™
S d-b
1 & )
a—-c
(x2 +7x+12) Q\QQ}
§§
TR 4 (o 2P
@ @ -1a i
Al d-b
(x? +7x-12) @ c+a

XVWS-T-MTK/50A 6
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11, The expression

(x3 - Y(x2 -9x +14)
(.\c2 +x+1(x2 -8x+7)

simplifies to

(@ (x-1

b (x-2

© (x-7

fd) {(x+2)

12. What should be added to 1

(x-2(x-4)
2x -5
to get ?
sl (x? - 5x+6)(x-9)
1
= (x2 -7x+12) \§®
S\
¥
g el LR
(2 +75»‘:+12)$Q\Q
$
1
& (x2-7x-12
1
AIINCED e P ko)
i (x2 +7x-12)

XVWS-T-MTK/S0A

13. If Z+¥%-g+b and X+ ¥ -2 then
a b 02 b2

b Y
what is —- - == equal to?
a® b2

fa) -2
) -1

fc O

d) 1

14. If (x- k) is tHe "HCF of x2 +ax+b and

x2 + ex +/d, then what is the value of k?

(@)

(b}

d+b
c+a

()

d-b
c+a

{d)

[P.T.O.
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18, FafaRes st ® fear Al : 18. x ¥ fva i 9m (Rve ) & T

1. ﬂﬁx,z%iW%sh”{y,z% LG=J¢3?

sgrT b, @ (2 -y?), 22 F 7-7_ 3

g ¥ 5-x
2. R x 2% FwuguA R My, 2 F @ 4

YHARA ¥, WA (xy), 27 F

AN ¥ S
Ifw T § 9 FR-m/A T8 A (e 2
(@) a1 @)
b} A 2

19. IR xx-Px-Ax-H+1=k2 ¢, A

fc) 13w 23 frafafea # § ¥F-w1 @& Ao (TEdEH)
[d Fd@1dRTB2 K forg dva &7

fa) x2-3x+1
16. x3-19x+230 3R x2 -5x+6 N Ho Yo

(T=o Hie THo) T ¥7 b x2-3%-1
el A R ) x®w3x-1
b} (x-ix+3 :
id)® x2-2x-1
fc) (x+2(x-1
(d} (x-3)(x-2) 1 1
@ 20 ca-bla-9 cab-9b-a
§® RALN
iy, L OX “\?L ab(c- a)ic- b)
1-x* x241 x@
% @ forad T 27
{@ 0 fa) a+b+c
i 1 (b) 3
{ct 2 (c) ab+bc+ca
(d) 4 @ o

XVWS-T-MTK/S0A 8
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15, Consider the following statements : 18. For what integral value of x is

1. If x is directly proportional to z and 12 = x?
y is directly proportional to z, then mee O &
(x2 - y?) is directly proportional 73
to z2. S—x

2. If x is inversely proportional to z

4
and yis inversely proportional to z, (@
then (xy) is inversely proportional b 3
to z2.
(¢ 2
Which of the above statements is/are
correct? (d 1
fa) 1 only 19. If x(x - )(x -2){(x — 3)+ 1= k2, then which
{b) 2 only one of the following is a possible
(c) Both 1 and 2 expression for k?
(d) Neither 1 nor 2 (@ x%-3x+1
16. What is the HCF of x3 -19x+30 and b) x%-3x-1
x2 -5x+6?
o x%+3x-1
@) (x+2(x-23
"
(B (x-2ix+3) \ A £
) (x+(x-1
¢ H 20. What is
(d) (x-3)x-2 Q 1 ; 1
. \\Q befa-bla~q calb-dib-a
17. What is N 1
D Pt
, 8x __4x | x+iOR-1 abic-a)ic-b)
1-x* x241 x+31
@ equal to?
equal to?
@ 0 ) a+b+c
P ) 3
fc 2 {fc) ab+bc+ea
@ 4 (@ O

XVWS-T-MTK/S0A 9 [P.T.O.
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21, k % fed T=f® WHl § R 25. 4x3 +12x2 - x - 3 Frud Reg A7
6kx? + 12kx —24x + 16 TUF THE x F

e o ol i ¥? fa} ¥9G R2x+1)
fa) I3 (b) FaE Qx-1)
i {0 @x+1)3dREx-1)Et -
) A - 13
(@ = (d) TRARx+YMAAQRx-1
22. aR x+1=52 50 - L ok wm ¥ 26. TR Frafafgn vt Rl % sm R wIA A 3
w x* Sirgr e, A few B F TR § =@an Thads
195 am?
(@) 16
255 (@ %
{b) =5
625 3
fc) TG_ (L) 2
(@ o 4
fc) -g

23, R @ 4x2 -2kx+ 3k =0 & YA TH-

THE A kFARENE? ) %

@ 4,12

fb} 4,8

fe) 0,12 g\\§® 27. WA dRM wF ®m § T iR wgtEl W

@ 0,8 D e wan & W i B ohew p Ay Fw A

g‘§ wEwt o wehedt W oI 301 ¥ AR

24. AR wHFO px2-§®\q=o ¥ qe W FEH T AW A IF (p+ ) }, N AR

Wmm%ﬂﬁt,?h(p+q) FRI W A 36 T ¥7

faraes TR 27 (i

o ®) (-2

by 7

fc 6 ¢ p-3

(d) S 4 p

XVWS-T-MTK/50A 10
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21. For how many real values of k is
6kx? + 12kx ~24x + 16 a perfect square
for every integer x?

{a) Zero
(b} One
fc} Two
{d) Four

22, If x+ =g, then what is .1c4—i

x*

%=

equal to?

195
{a) F

255

LT

625

T

d o

23. If the equation 4x? -2kx+3k =0 has
equal roots, then what are the values

of k?

{a) 4, 12

b} 4,8

fc) 0,12 Q®
&

@ o, 6

24. If the sum as well @ e pmduct of the
roots of the e —-6x+q 0

is 6, then what is {p +q) equal to?
{a)
)
(c
(d)

(4 B = I I

XVWS-T-MTK/50A 11

28. 4x3 +12x2 - x - 3 is divisible by

{a) (2x+1) only
(b) (2x-1) only
fc) Both 2x+ 1) and 2x-1)

{d} Neither 2x + 1} nor 2x-1)

26. Which one of the following fractions will

have minimum change in its value if 3 is
added to both the numerator and the
denominator of all the fractions?

2
{a) 3

fb)

W

fc}

|

(d}

itn

. Let the average score of a class of

boys and girls in an examination be p.
The ratio of boys and girls in the class
is 3: 1. If the average score of the boys is
{p + 1), then what is the average score of
the girls?

fa (p-1)
b -2
fc (p-3)

d p

[P.T.O.
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28. A, BN CcHR aI@ 7:9: 12 F sgua # #

AMRFTF=M8:0:15F gAY AR 4
eI @A - Y, A4 B

31. & AWK FAW: 20%, 10% 3HR 5% H

s g2 (FsaRa feewEe) 3o )
e ot Brit?

aln ¢ f w=a w1 siger w0 }7

fa) 30%
fa} 56:99:69 ) 316%
99: 56: 69 2.0
o At 0 (@) 35%
{fc} 69:56:99 .
32. TF SR B uRY =W H @ Puifa ww
(d) 99:69:56

5 @8t ¥ R fram e wm AR W 5%
F=R N R FAm fFn oman, @ sg@ ®500

: At W TR | AR T e
29, 200 m Tt TH TR, 100 m & TH

wreetd | 10 ¥ § R w6 B @ (e} ¥2,000
=1 Rt #7 (b} ¥1,800
(c) ®1,600
{a) 40 m/s
(d) €1,200
) 30 m/s
3. YA M2 M RAA298F
(e} 25 m/fs e wwgfe = (anffs w9 @ @afE) o
YU, S 1 S ¥ 72 B qene =7
{d} 20 m/s
(a} ¥6,500
(b} €6,000
S0 IR QQQ fc) 5,500
1 i i

+
1x2 2%x3 3x4

NL)
+ +@ =0 (d} €5,000
&

%,?ﬁniﬁlﬂﬁiﬂﬂ%?Q\Q 34. T WWmd 5 W § 600 km B AT A ¥

@$ 3R TR 900 km ¥ AN 10 W& H Fl R)
fa} 98 Wt i haa e 70 27
) 99 {a} 80 km/hr
{b} 90 km/hr
& NG (c) 100 km/hr
(@) 101 (d} 120 km/hr

XVWS-T-MTK/S0A 12
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28. The incomes of A, Band Care in the ratio 31. A trader gives successive discounts of

7:9:12 and their expenditures are in 20%, 10% and 5% respectively. What is
the ratio 8:9:15. If A’s saving is one- the overall discount?
fourth of his income, then the ratio of
savings of A, Band C is {9, 8%
(b} 316%
fa) 56:99:69
(c) 32:8%
{b) 99:56:69 id) 35%
{c) 69:56:99 32. A sum of money was invested at simple
interest at a certain rate for 5 years.
) {d) 99:69:56

Had it been invested at a 5% higher
rate, it would have fetched ¥ 500 more.

20. A in 200 m long passes a platform What was the principal amount?

100 m long in 10 seconds. What is the {a; ¥2,000
speed of the train?

) ¥1,800
fa) 40 m/s ¢ ¥ 1,600
) 30 m/s (d) ¥1,200
(¢t 25 m/s 33. The differenice between the compound
interest (compounded annually) and the
{d} 20 m/s simple-interest on a certain sum of

money at 12% per annum for 2 years
15¥ 72. What is the principal amount?

30. If @ ©6.500
e 1 1 1 1 '® 99 0/ 6,008
ees =
lx2+2x3+3x4+ n%i‘]% 100 {cg ¥5,500
(§) {d) ¥5,000
$g5i RO IE gg of{ 34. A train travels 600 km in 5 hours and the
% next 900 km in 10 hours. What is the
fa) 98 average speed of the train?
@) 80 km/hr
®) 99 {a) '
) 90 km/hr
(4100 {c 100 km/hr
{d) 101 {d} 120 km/hr

XVWS-T-MTK/50A 13 [P.T.O.
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35. T% =A% 9k wwh wpE =@ R A W@ |
waa ¥, 9 9 FEied 12 e 3 & wdEa
% 3@ g0 B U HE § @ e e
W T 37

(@) 48 e
(b) 50 e
¢} 54 fime

(d) 60 e

36. 100 3 1 FA-Ye9, 80 vt ¥ fEa-yea
F w7 < wiowaa @ k7

@ 16%
®) 20%
) 24%

{d) 25%

37. X 5T AR Y F gE § 25% wwn I 3
alw z 4 gem § 25% wdm Z @ , ¥

i gern & Ree i wem 47 (O

g\

@ 3% S
N
@Q
$

(b) 40%

¢} 50%

200

(@ —

%

XVWS-T-MTK/S0A
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38. 7a it 9l % 80 et fsw #, s 1 25%

za ¥ 7@ fpror A e Tl ol fieman g
il 9% 23, fo 1 20% & w?

f) 15 AR
(b) 20 T
() 24 AR

(d) 25 TR

39. TR 20 =ARE, 20 TR, 20 Rt § 9 W TF

% @ 16 =%, 16 wR Frm & # a9 W
gHN?

(@ 25%=
(b 24tA
fo)~, 20 =

@ 16

40. WH HART (x - 1) IR T (x + 1) 7 # Fem

T wE oy ¥ AW AR (x +2) SRR S
(x—l)ﬁﬁﬂﬁﬂl"ﬁ'l'éﬁ‘lﬁztlﬂﬁ
y:2=9:10%, /@ x & 9F T 87

(a) 8

M) 9

fc) 10

{d) 12
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35. Walking at g-th of his usual speed, a man

is 12 minutes late for his office. What is
the usual time taken by him to cover
that distance?

fa) 48 minutes
{b) 50 minutes
{c) 54 minutes

({d 60 minutes

36. The cost price of 100 mangoes is equal to
the selling price of 80 mangoes, What is
the profit percentage?
faj 16%

b} 20%
fc) 24%
{d} 25%
37. X sells his goods 25% cheaper than Y

and 25% dearer than Z. How much
percentage is Z’s goods chea@m.n Y?

100,
ol

(b) 40% @

{c) 50%

200 %

(@

XVWS-T-MTK/S0A

38. In a mixture of 80 litres of a liquid and

water, 25% of the mixture is the liquid.
How much water should be added to
the mixture so that the liquid becomes
20% of the mixture?

{a} 15 litres
{b} 20 litres
{c) 24 litres

{d) 25 litres

39. If 20 persons can clean 20 floors in

20 days, then in how many days can
16 persons clean/ 16 floors?

{a} 25 days
{b} 24 days
{€), 20 days

{d) 16 days

40. Let the work done by (x-1) men in

(x+1 days be y Let the work done
by (x+2) men in (x—1 days be =z
If y:2z=9:10, then what is the value
of x?

fa) 8
) 9
{fc) 10

(d) 12

[PT.O.
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41. log,, 31-25 fra® wur &7 45. 3k 5%~ 3 =8 %, W x forus wva R7

fa) 3-5log;p2 3
@ iog2
c) 5-5lo 2 3
fc) 810 (b) 1
+log;p 2

(d} 5- 310810 2

2

42. 15-413 =1 i@ = &7 © g2

fa) 2v2-J7

(b) 3v2-2J7 1-1og;0 2

fc) J15-J7

@ 5-3 46. 3sin? 0 +4 cos? 0. <A TH T 37
43. A TR W i F wgeed (Reea) & (s

L8 ?

zﬁm%%lﬁmqgﬁaﬁmmwt. ). 4

() 12 . )" 3

(b} 13 (@ 2

© 14 Qg%

@ 16 g\\

& 47. AR sinBcosd =k a,aﬁosesga,?ﬂ
O

M_qﬁnﬂgmw%ﬁ\gmlmm iR 3 HA-w v A

S N @ Osk<l

fa} TH

(b)) FTA0<Kk<0-5

(b} IR

o fc) FIMO0-5<k<1

(@) s (d) 0<k<l

XVWS-T-MTK/B50A 16
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41. What is log;q 31-25 equal to?
(@) 3-Slogy2

fc¢} S5-Slogyp2

42. What is the square root of 15-4./14?
» (a) 122 =7

b) 3v2-2J7
¢ J15-J7
{dj J5-J3

43. The sum of the reciprocals of two
alternate natural numbers is % What
is the sum of the numbers?
fa) 12
(b) 13
{ct 14 \6®

&

3 Q
44. If n is any natural @ber, then 52" — 1

is always divisi@ y how'many natural
numbers?

{d} 16

faj One
{b) Four
{c} Six

{d} Eight

XVWS-T-MTK/50A 17

45. If 53 = 8, then what is x equal to?

3

a —_—

1+logyg 2

C e
{} 1—10g102

) asdnine = 1

46. What is the least

3sin? 0 +4cos287?

value of

(@) /S
b} 4
© 3

{d 2

47. If sinfcos® =k, where 0<8< g, then

which one of the following is correct?
fa) 0sksti

fb) 0<k=<0-5only

{c} 0:.5<k<1only

{d O0<k<l

[ P.T.O.
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48. af% 05352% Y p=sin2@+cos? e &,

A1 Frefafea FamE ® fER fiw
1. p, 38R TR
2. p, 1R i B wwa 2

I U T A PH-a/ qh B/
{a} a4 1
(b) %@ 2
¢ 13R2IA

(d Ad 1WA 2

49. 2-2sinx —sin? x, osxsg, ¥ WEwm 9N

] T AN WA & I = R7
fa) -3
by -1
© 1
(@ 3 \§
85
¥

50. IR whFW x2 + 3?2 -@m%:O # x

AR y ¥ fom aral=F 338, A
y= Rm @@

(@ x=y

b) x=-y

) x=2y

d 2x=y

XVWS-T-MTK/S0A

51. fiefafga smftstt (FemfaRk) = few
#ifsm .

1. sinl’<cos57
2. cosb0P>sind7

Iw & ¥ BE-w/Y ad 2/%7
fa) ¥ 1

(b) ¥4 2

c) 1 3R 2 It

(d IWm1sad2

52. AR p=secOd-tan® IR q=cosecd +cotd
%,T‘hp-l-q(p—l)'ﬁ?ﬂ'&?w%?

@ -1
() 0
€ 1
dy 2

53, 9 cosech-cotd=m %, M cosech FraF
IR B?

{a) m+—1
m

i) el
m

m 2
@ 2%m

m 1
il g
@ 3 *om
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48. If p=sin?0+cos?® for 0<o sg, then
consider the following statements :

1. pcan be less than 3.

2. p can be more than 1.

Which of the above statements is/are
correct?

fa) 1 only
) 2 only

fc; Both 1 and 2
{d) Neither 1 nor 2

49, What is the ratio of the greatest to
the smallest value of 2 -2sinx -sin? x,

Ost-;f?
@ -3 .
b} -1
© 1

(@ 3

&
>
50. If the equation x’\@— 2xysin2@ = 0
contains real so n for x and y, then
@ x=y
) x=-y
¢ x=2y

{d) 2x=y

XVWS-T-MTK/50A 19

81. Consider the following inequalities :
1. sinl®<cosb?®

2. cos60?>s8inS57°

Which of the above is/are correct?

{a) 1 only
{b) 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2

82. If p=sec8-tan® and g=cosec8 +cot8,
then what is p+g{p - 1) equal to?

(@ -1

(b) O

{c) 3
(d) 2

B3. If cosec8 -cotb = m, then what is cosect
equal to?

far) m+—1

m
(b) m-—
B e

(d) %+

[ P.T.O.
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58. 4R
6+ 8tand = secd 3R 8- 6tanb = ksecd

54. WA AT ABC T Bfs & R CR @
%, A tan A + tan B 0% TR 87

a
@, 2, k2 o uE A
a? . 11
b e (@)
g (b) 22
{c = (c) 77
c? (d) 99
@ =
59, FifN W TH WY SRR W@ F WY 60° F
55. WA WM cosa+cosf=2 3 HI0 9 FH BoN | Wi W G F enuv &
sing +sinf =0  wE 0sa<90, xtﬁuiﬁiﬁﬂ'@lﬂ@ﬁ%q{@*a
0<P < 90° B cos2u — cos2p F AH 1 &Y o aUR B sioha (TEe) =@ B AR
{@ O @ 3R frg O = @ s wwew &,
b 1 o @Y ) T TR
fc) 2
(@ v st S o Rl T e b G
< W (b) V3 x ¥zt
” ¢ 2xHiR
56. ﬂﬁsec9+cose=§, B 0<6<00r B, @ () 2T x R
sin? 6 T HF FT 7
(a)l 60.\TF AOER Q@9 $ BN N TH FAMR TR
‘: % TEweam A T | 60° 3K 45° F
1 \§ siafa (Wade) F ) AR TR T [ AR
2 g\ N W 6 F W Faka w@ R, A cotd
@ = ‘2§) fopmre wre B ?
N 1
@ 1 N (@ -
@ 2
B7. (1+cotf —cosec)(l+ tan b +sech) rud ) 2
T 7 :
(@ 4 0 =
() 3 &
(c) 2 4
il {d) 7

XVWS-T-MTK/S0A 20
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84. Let ABC be a triangle right angled at C, 88. If6+ 8tand = secd and 8— 6tan® = ksecH,

then what is tan A + tan B equal to? then what is the value of k2?
(@) = @ 11
be
o i
be
() 77
b2
{c) = (d) 99
2
(@ z—b- 59. A pole on the ground leans at 60° with

the vertical. At a point x metre away
from the base of the pole on the ground,
two halves of the pole subtend the same
angle. If the pole and the point are in
the same vertical plane, then what is

88, Let cosa +cosf =2 and sina +sinf =0,
where 0sa $90°, 0<PB <90°, What is
= the value of cos2c —cos2B?

fa) O the length of the pole?
®) 1 {a) 2 x metre
fc0 2
{d) Cannot be determined due to (b) 3x metre
insufficient data {c} 2x metse
56. If sec®+cosh = g where 0 < 8 < 90, then ()| 2§2% metre

what is the value of sinZ6?
60. A vertical tower standing at the corner of

(a) 1 a rectangular field subtends angles of
4 60° and 45° at the two nearer comers.
1 If 8 is the angle that the tower subtends
. (b) 2 Q® at the farthest corner, then what is
K\ cot equal to?
3 QO
@ S .
. Q(b' (@) =
AN 2
(d 1 @Q
N
57. What is (1+cot8—cosec8)(l+tand +secd) ) 2
equal to?
2
al 4 =
(a} {c) 7
) 3
() 2 4
dl —
@ 1 @ 3
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61, W TH IR UE MM THEHE MR R 65. 24 cm fFR (T0) 31N F Wi | I T2

T e ¥ ) T B 9 w5, s 3 w7 Ruar 9 ¢ ik 3ed 9 sk =
) B & srgama = X7 T WG &1 AR A BR W F R 12 om
(@ 1:1 @Rlﬁcm%,?ﬁ?ﬂﬂi@iﬂﬂﬁlqﬁﬂm
® 2:1 w37

fcg 3:2

fa) 1200 cm?
id 4:3

{p) 1800 cm?
62. 60 mm 9N I TH 39 M N AEER

144 cm wEE ® uF an F0d ot ¥) TR = fc) 2400 cm?

Y (d) 3600 cm*

{a) 05 em

. i;m 66. TH THHR U (Riwe 9uw), R srate

Ougns B0 5 cm R 3 24 om ¥, TR A T

i g w0 TN &1 T R TR 10 om it
63. T I (Rfe) % smm & o =, ?ﬁ:@‘ﬁm%ﬁmﬁmmh

fufem 6 39 & wm ogEw 2:3 ¥ AR Y

fifset #1 3T 1617 cm?® B, @ Rifa=

i fa) 1 cm
- ?n = 22

I TH-TEA A5 T ¥ (n - #ifm) oy €2

(@) 242 cm? )3 ecm

(b} 385 cm?

() 462 cm? W, e

(d) 770 em? ® .

: 3$Q 67. 22 cm YN TX UG ¥ W W W W

64. 14 cm Td THF ATHSR e R faar, 21 cm 98¢ 1 @ #F T

o JEY &P H A cm? ¥iarw W ¥ TF % amum Y Bem own ¥

99 cm? ¥ uig 4 | TR giEg A/ =™ - 22 i |

fism R ofw o P2, (R+n L )

2

e =R 7 (ﬂ=7?ﬁﬁﬂl) {@) 11 cm

fa 9 cm () 16-S cmn

(b) 7-5 cm

(o) 6ot {cJ 22 em

{d} 45 cm (d) 275 c¢m
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61. A cone and a hemisphere have cquat
bases and equal volumes. What is the
ratic of the height of the cone to the
radius of the hemisphere?

{fa) 1:1
(b) 2:1
fco 3:2
{dr 4:3

62. A solid sphere of diameter 60 mm is
melted to stretch into a wire of length
144 cm. What is the diameter of the
wire?
faj 05 cm
it} 1 cm
{fco 1'5cm
{d} 2 em

63. The ratio of the radius of base to the
height of a cylinder is 2: 3. If the volume
of the cylinder is 1617 em?, then what
is the curved surface area of the

cylinder? (Take m = -2:7—2)

{a) 242 cm?
{b) 385 cm?
¢} 462 cm?
(@ 770 cm? Q
64. The difference between t@ tside' and
the inside surface a cylindrical

pipe 14 cm long is 2. The pipe is
made of 99 em? & metal. If R.is the
outer radius u@s the inner radius of
the pipe, then Wwhat is (R +1¢) equal to?
(Take n = %g)

{fa} 9 cm
(b} 7-5 cm
fc 6 cm
{d} 45 cm

XVWS-T-MTK/S0A
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A metal solid cube of edge 24 cm is
melted and made into three small
cubes. If the edges of two small cubes
are 12 cm and 16 cm, then what is the
surface area of the third small cube?
{a} 1200 cm?

{6} 1800 cm?
{¢) 2400 cm?

(d} 3600 cm?

66. A conical vessel whose internal radius is

5 cm and height 24 cm is full of water.
The water is emptied into a cylindrical
vessel with internal radius 10 cm. What
is the height to which the water rises?

fa) 1 cm
B). 2 cm
fc) 3 em

{d} 4 cm

67. A metal solid cube of side 22 cm is

melted to make a cone of height 21 cm.
What is the radius of the base of the

cone? (Take =%}
fa) 11 cm

{b) 165 em

fct 22 cm

{d) 275 cm

[P.T.O.
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68. 24 cm I9E TN F TF F 9H-WHA AT

550 cm? ¥ wig & fBw @ wdh st
391 A S1guTe T R? (n=¥?ﬁﬁm)

@ —
b —
) —

d ——

69. 44 cm WA 3R 22 cm P TH IFEAFR

7. 3 m IR EFRIAIZ mAF M 7 m

it 3=m T YiF F TR W T 09 (32)
T WA R PR H dan R ¥
(n=%?ﬂ‘ﬁﬂ1{)

fa) 21 m
(b} 28 m
fc) 44 m
fd} 66 m

72, 6 cm M F TH Mo N APRF ¥9 4 0 A

W TF FSER 9 § T T4 ¥) 5@ 9w |
s 6 cm ¥) AR Mew gt we aeh § @
ST &, @ 9rlt 1 W e w8 smen?

IS €| T8 FU T 4 760 98 | oiem fa) 05 em
T geq Avd (R4S=t) s=mn s &, @ wm b} 1cm
m%mmx%mmmw {¢ 15 cm
%! T e ¥ TR U g R s (@ 2 cm

W}, N e I y X x oy A SHI@

W%Nm%gﬁﬁm) 73. 21 ool Bl R % 99 § A & fisuwe

(FHX) T A R R A F w9 A ol

f@) 1:1 55 cm ¥, @ AT T dF% T RY
el el {d) 5775 em?
fcg 1:2 (b) 6125 cm?
{d) 3:2 s<®® ¢/ 7055 cm?
70. 3 g/em3 WA fl T s @Ee (9 T 3ipiem
TIARFR N SR S TR AYTalE

; fr=n @ * #
3l @ Bsad :@cméﬁf{t’:cmﬁ,?ﬁ i e il s

4 IR 0w wHEg ¥ R # nr Swn 3,
91 1 R MR (= ) A T 0 0 o T A (n=§sﬂﬁq)
(@ 1144 g {a) 55 cm
(b} 1024 g (b} 75 cm
() 840 g {¢) 95 cm
(d) 570 g {(d) 110 cm
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68. A cone of height 24 cm has a curved

surface area 550 cmZ?. What is the
ratio of its radius to slant height?

(Take n = %}
fag —
) =
) ==

d -

69. A rectangular paper is 44 cm long and

T1. A cloth of 3 m width is used to make

a conical tent 12 m in diameter with
a slant height of 7 m. What is the length

of the cloth? (Take 7 = 27?2—)

fa) 21 m
{b) 28 m
fc) 494 m
(d} 66 m

72. A sphere of diameter 6 cm is dropped

into a cylindrical vessel partly filled with
water. The radius of the vessel is 6 cm.
If the sphere is completely submerged
in water, then by how much will the
surface level of water be raised?

22 cm wide. Let x be the volume of the (E)i SRpem
largest cylinder formed by rolling the (b) 1 cm
paper along its length and y be the f 15 em
volume of the largest cylinder formed by (d 2 o

rolling the paper aleng its width. What
is the ratio of x to y? (Ta.kc n= %} 73. A sector is cut from a circle of radius

21 cmv If the length of the arc of the

@ 1:1 sector is 55 cm, then what is the area
of the sector?
b) 2:1
fa) 5775 cm?
fcg 1:2
{b) 6125 cm?
d) 3:2
J @ \Q&Q {c} 7055 cm?2
70. A hollow spherical shel % ade up of (d) 7255 cm?
. a metal of density Jem 3o I the . -
internal and exte dii are'5 emi and 74. A wire is in the form of a circle of radius
6 cm respective en what is the mass 70 cm. If it is bent in the form of
22 a rhombus, then what is its side length?
of the shell? e n=—) 22
7 (Take n = ?)
(@) 1144 g )55 em
(b} 1024 g (b) 75 cm
fc) 840 g {c} 95 cm
{d) 570 g {d) 110 cm
XVWS-T-MTK/S0A 25 [ P.T.O.
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75. 3R T AIIHR TR W 9FET 360 m B,
A TEE fAee T ¥? (u=2—72?ﬁﬁl1z)
fa) 3850 m?
) 7700 m?
fc) 11550 m?

{d) 15400 m?

76. TFuReE (3NRwm) ABCD#, AB, DCH aqi®
2 et AC ¥R BD, P W H-gA W FA
(TR F1) %) IR AP: PC=4:@x-4)
AR BP: PD=2x-1): 2x+HE, D xF AR
T A7

fa) 4
) 3

{c)

N

@ 2

N
ADEF

30 6m &
forme Taa

77. AABC, ADEF % U¥&4 |
¥ oo FHM: 40 cm
(BC + CA) &t (EF + F.

¥? @
(@ 5:4
®) 4:3
) 3:2

{d 2:1

XVWS-T-MTK/S50A
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78. 3 wRAE omil ¥ Wl ww (aRFw TE)

TR £ 3 TF fmwet w U@
4.84:5.29 %) 3R €@ S=El W SPUE
w87 g

fa} 11:23

(b) 23:25

fc) 22:23

(d) 484:529

79. ABC T B[ ¥ frm w1 A wnem ¥ 3R

AD, BC % wwaaq ¥ IR BD =8 cm 3R
DC=12.5 cm ¥, 9 AD fras e 27

{a} 75 cm
b} 85 cm
f¢i. 9vem

{d) 10 cm

80. TS T I gHY HIFT, TF Ml F JHR A%

F auat B IR T T AW x ¥ R AW =
s y ¥, @ 2 y? fead w27 4

fal n:6
b) 6:m
fc) =:3

fdy 3:mn
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75. If the perimeter of a semicircular park

is 360 m, then what is its area?
(Take n =~2—2}
7
{fa) 3850 m?
(b} 7700 m?
{¢) 11550 m?

{d) 15400 m?

76. In a trapezium ABCD, AB is parallel
to DC. The diagonals AC and BD
intersect at P, If AP: PC=4:{@x -4)and
BP: PD={2x-1):(2x+4), then what is
the value of x?

fa) 4
) 3

{c)

|

{d) 2

S
77. AABC is similar to ADE. Q?‘he perimeters
of AABC and ADEF: 40 (6m ‘and

30 cm respectivel \Q t is the ratio of
{BC+ CA) to {E& equal to?

{a) 5:4
(b} 4:3
{c) 3:2

(d) 2:1

XVWS-T-MTK/S0A
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78. Two isosceles triangles have equal

vertical angles and their areas are in the
ratio 4-84:5-29. What is the ratio of
their corresponding heights?

{a) 11:23
(b} 23:25
fc) 22:23

(d) 484:529

79, ABCis a triangle right angled at A and AD

is perpendicular to BC. If BD=8 cm
and DC=12.5 cm, then what is AD
equal to?

{a) 75 cm
{b) 85 em
fc). "9 cm

{d) 10 cm

80. The surface area of a cube is equal to

that of a sphere. If x is the volume of the
cube and yis the volume of the sphere,
then what is x%: y2 equal to?

ja) n:6
) 6:m
f¢g =m:3

(d 3:m

[ P.T.O.
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81, TH WM Brgst oo xc:(x - 1): (x - 18) 84. UF WWg fm ABC iR & fwmeg B
% argama # &) fyw W afomm = 87 DBCT& 0 # =1 ¥ & @ @& 2ifka R
w1 #1 £BDC fFu® mww #7

fa} 28 Trd
(b} 42 3 i fla
45°
fc} 56 H .
60°
(d) 84 7T g4
{d) 90°

82. ABC & W %, R #io B aw=v ¥ 7R
R M 3iR N, AB W 9 TER ¥ 2 fag ¥ 85. Th @ ABC Hi o 4 cm, 6 cm 3k

& AM = MN = NB ¥ 7R i P siv Q, 8 cm ¥) i F W Rrgat ) = A,
ACRTE TR FARZE™H PM, ON & o @ v R § Rl A 8w g9 el R
R ¥ R ON, CB ¥ wim % 3R TN oA F o A B A oght A
BC=12 cm %, @ (PM + ON) fFas wum Pt = Qe w= ¥2
34

fa) 6 cm
fa) 10 cm

(b) 7'cm
fb} 11 cm
¢t 12 cm QN
L {d) 10 em

83. AB ¥ CD T 39 ¥ = £ &) AP 86. WA TNM PAB 7% 39 4 ©& B¢ W@ & &
mmtlagﬂcs,sp@\w‘ 99 F A MR B W wwd R) wm st pr

WY tarde (5 =) §1 3R PA=9 cm -
| 3R ZPAD = 60° ZBPD 7%
ﬁg? @Q iR PT =12 cm R, D AB Bas T 47
$
{a) 30° fa@ S cm
(b} 60° (b) 6 cm
¢} 90° fc) 7 cm
(d) 120° (d} 9 em
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81. The sides of a right-angled triangle are in

the ratio x:{x-1:(x-18. What is the
perimeter of the triangle?

84. An equilateral triangle ABC and a scalene

triangle DBC are inscribed in a circle on
same side of the arc. What is ZBDC
equal to?

{a) 28 units

{a) 30°
{b) 42 units

(b} 45°
fc) 56 units

{c) 60°
{d) 84 units

(d) 90°

82. ABC is a triangle right angled at B. Let

M and N be two points on AB such that
AM=MN=NB Let P and Q be two
points on AC such that PM is parallel
to QN and QN is parallel to CB If
BC=12 ¢m, then what is (PM +QN)
equal to?

88. The sides of a triangle ABC are 4 cm,

6 cm and 8 cm. With the vertices of
the triangle as centres, three circles
are drawn each touching the other two
externally. What ig the sum of the radii
of the three circles?

faj 10 cm (a) 6 cry
) 11 cm Pl A
(© 12 em {c) 9 cm
(@) 13 em {d) 10 cm
4] ’® 86. Let PABR be a secant to a circle

83. ABand CD are the diame e&§$f a circle

intersecting the circle at A and B. Let PT
which intersect at P. AC, CB, BD

be the tangent segment. If PA=9 cm

~ and DA If LPAD= then whatis and PT =12 cm, then what is AB
£BPD equal to? chiial 40P
S
@ 30° (@ S em
{b) 60° {b) 6 cm
fc) 90° fc} 7 cm
{d 120° {d) 9 cm
XVWS-T-MTK/S0A 29
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87. 4R w5 TR fiye 1 7fEm 30 em &R 89. ABCD U% Wa@w (3ifem) ® it AB, DC

W #9113 cm ¥, @ B W@ duww = % T & 3R 248 = 3DC R Tl Ac iR
¥? BD, O W TR F1 | AAOB ¥ 89%a =1
ADOC % §a%a1 & 3T +41 87
fa) 24 em?
fa) 2:1
() 27 em?
(b) 3:2
{c} 30 em?
fc) 4:1
{d) 36 cm?
(d) 9:4

88. ABC v% P R, fma wivr coPm ¥ TR
#Rm AB W ¢ & =ifra frg T da B e 90. .U% T F¥E Iqd¥ ABCD B =Rl Y=t

pNIAR BC=6cm IR CA=8cm }, A e F ¥ AR AB=9 em, BC=8 cm
p WA AP 3R CD = 12 cm ¥, @ DA frws Tt 7
$ ,
fa) 54 cm gQ\ fal 14 cm
S

N ‘
(b} S5 cm @$ ) 13 cm
fcs 48 cm {c¢t 12 cm
{dl 42 cm fdi 11 cm
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87. H the perimeter of a right-angled triangle 89, ABCD is a trapezium in which AR is
is 30 cm and the hypotenuse is 13 cm, parallel to DC and 2AB=3DC. The
then what is the area of the triangle? diagonals AC and BD intersect at O
What is the ratio of the area of AAOB

to that of ADOC?

{&) 24 cm?
fa) 2:1
{b) 27 cm?
(b) 3:2
f¢) 30 em?
. {c 4:1
(d) 36 em?
{d} 9:4
88. ABC is a triangle right angled at C. Let 4 .
p be the length of the perpendicular 90. A circle touches all the four sides of
drawn from C on AB If BC=6 cm and a quadrilateral ABCD. If AB=9 cm,
CA = 8 cm, then what is the value of p? B¢=38 cm and CD'= 12 cm, then what

is DA equal to?

y {a) 54 cm SQ\Q® R O
&§
. be.
N
) 5 cm @$ b} 13 cm
fc) 48 cm fct 12 cm
(d} 42 cm {d) 11 cm
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91, Hit & srA (T@ #) ¥ e # FwfaRea 93. Frfuiaa wtwst ) wityw (k=) #=n ¥?
et w T Hif :

2,3-1,2,6,8,9

af 2015 | ¥ 2016
WA a5 38 e
W B 45 47
W[/WC 88 93 ®) 3
il 75 79
W E 58 60-9 il
1 39t § w’ W I 2015 B gEN & (d) 5
2016 ¥ 5% v ¥ At 7g ¥7
faj B3 E
) FaA A, CIR D 94, WU¥ TW WY GEAIS] I 9 Wi (Yfemis :
) A C, DIARE W) T 47
(d) ¥9@ A, DI E
fa} 85
92. fiafafea ot 80 = H ww whsn #
90 Bl ¥ 3wt B i ¥ () 95
% o7t £ g fcj 102
L : {d) 11-2
11-20 8
21-30 10
e 15 § 95. 5 BTl T MW PR T S 21, 27, 19, 26,
Q\ . - f
41-50 18 &Q 32 §1 9% § 7T O % IH A 5 PR ITF
51-60 e (m Td) ok g Ru o & ol ¥
61-70 oy weifem S 1 shem o = A7 | ‘
71-80 7
o) 26
AR RSP\ AR y
feu #7 (b) 30
fa} 30%
(b} 40% fc) 31
{c) 45%
(d} 60% (d 32

XVWS-T-MTK/50A 32



http://studentsuvidha.com/
http://studentsuvidha.com/

91. Consider the following data with regard 93. What is the median of the following data?
: to production of cars (in lakhs) :

Year 2015 | Year 2016 =l 256819
Country -A 35 38
Country B 45 47 @ 2
Country C 88 93
Country D 75 79
Country E 58 600 Lol
In which of the countries, the ¢ 4

production of cars has increased by
more than or equal to 5% in 2016

. over 20157 (d} S
{fa} Band E
. (o) A C and D only 94. What is the arithmetic mean of the first

ten composite numbers?
{0 A C DandE

{d} A, D and E only fa} 85
92. The following table shows the marks of (b} 95
90 students in a test of 80 marks ;
Marks Number of students (c); 102
1-10 5
11-20 8 (@ 11-2
21-30 10
3140 13 _
41-50 18 95. The marks obtained by 5 students are
' 51-60 17 21, 27, 19, 26, 32. Later on 5 grace
61-70 P marks are added to each student. What
71-80 &2, are the average marks of the revised
. {03 marks of the students?
The percentage udents who have
obtained less or equal to 50% @ 26
marks is
{a) 30% (b) 30
40%
GRS () 31
(¢} 45%
{d) 60% {d) 32
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96. TH TRL m Vel T WA p § IR~ Nawi

En .

T A g ¥, el p <q ¥ IR (M +n) Jge
T ugH WA ¢ ¥, @ el 7 & SR
| 7

fal c<p
) c2q
fc0 pscsgq

(d) g<c<p

I R (4) TET & T fell @Rt § safa
ned)-faafim WfeEt & f&bm 2®u (1, n, m, v, V)
¥ gay 3 Fefaiea siwet (aret #) w fomm 6ifvg

¥ 1 11 111 v \'
2000 | 160 80 70 90 75
2001 | 200 | 150 85 160 | 100
2002 | 135 35 44 95 85
2003 | 240 95 120 80 120
2004 | 180 | 110 85 95 115
2005 | 210 | 150 | 100 92 110
\@\\

S

97. ¥ 2000-2005 Hi mﬁﬁ%m . gl

7 A gl ¥7 Q\Q
@ man O

(b} T I

() TWIV

(d) TV

XVWS-T-MTK/S0A

o8. frafafaa adl & 7w # ¥ e F& Ianid
nfdEl (2ediz) i e # o = 37

(@) (2003, 2005)
{b) (2001, 2008)
fe) (2003, 2004)

(d) (2000, 2002)

99. 2001 1 g § 2004 | T& I9RA # = A
ofem@a 1 2001 1 g # 2000 # F
Ieare § iy ) wiewEa | igua ®

(o)

W=

(b}

B =

e

M| =

(d)

o=

100. Fru a9¥ =139 1 +1 Ieqieq, 2159 11 3K 2w v a
¥ FA I ¥ IS ¥

{a) 2001
{(b) 2002
fc) 2003

{d} 2004
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96. Let p be the mean of m observations and
@ be the mean of n observations, where
p=gq If the combined mean of (m+n)
observations is ¢, then which one of the
following is correct?

(a)

cEp

tb) czq

(00 psesgqg

fd) gsesp

Directions :

For the next four ({4) items, consider
the following data with regard to different types
(L, I, 11, IV, V) of multivitamin tablets produced
in a company (in lakhs) :

Year 1 I III v v
2000 | 160 80 70 90 75
2001 | 200 150 85 160 100
2002 | 135 35 44 95 85
2003 | 240 95 120 80 120
2004 | 180 110 85 95 115
2005 | 210 150 100 92 4 110
N

S

97. Which product is produ@‘least over the
years 200020057 Q\Q

@$

fa) Type I
fb) Type III
¢} Type IV

(d) Type V

XVWS-T-MTK/S0A
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98. In which one of the following pairs of
years, the difference in total number
of tablets produced between them is
minimum?

{@) (2003, 2005)
(b) (2001, 2005)
{c)

{2003, 2004)

{d} (2000, 2002)

99. The ratio of percentage drop in total
production in 2004 compared to 2001
to that in 2000 compared to 2001, is

1
(@) 3

(b}

|-

fc)

N | =

(d)

| =

100. In which year, the production of Type I is
more than the sum of the production of

Type II and Type IV?
(a)
(b}
(c)
()

2001

2002

2003

2004

[PT.O.
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pO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : XVWS-T-MTK Test Booklet Series

Serial No4 89913

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

1.

20

5.

6.

9.
10’

. You have to enter your Roll Number on the Test Booklet in

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D care and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection. '

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is pfinted both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carty equal marks.

Before you proceed to mark in the Answer Sheet. the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling your responses on the Answer Sheet and the examination
has concluded, you should ha%%(b er to the Invigilator only the Answer Sheet. You are permitted

to take away with you the Booklet:
Sheets for rough work nded in the Test Booklet at the end.

Penalty for wrong :
THERE WILL BE PE FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE ON (PAPERS.

(i) There are four matives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

{ii) If a candidate gives more than one answer, it will be treated as a wrong answer cven if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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